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MEC-002 : MACROECONOMIC ANALYSIS

Time : 3 hours Maximum Marks : 100

Note : Answer the questions from each section as directed.

SECTION A

Answer any two questions from this section. 2x20=40

1. What is meant by steady state in the neoclassical
growth model ? Explain how steady state is
maintained when population growth and
technological progress are taking place.

2. Explain in brief the issues on which Lucas
criticised the Keynesian model.

3. Briefly discuss the life cycle hypothesis and
permanent income hypothesis of consumption.

4. Distinguish between cyclical and structural types
of unemployment. Briefly discuss the relevance of
natural rate of unemployment.
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SECTION B

Answer any five questions from this section. 5x12=60

5.

10.

11.

12.

Explain the political business cycle theory of
Kalecki.

What is an IS curve ? Explain how its shape and
position is determined.

Discuss the factors that lead to wage rigidity in
an economy.

Explain why fiscal policy may not be effective in
an economy with flexible exchange rate.

Bring out the salient features of real business
cycle.

Briefly discuss the salient features of the Ramsey
model (Planner’s problem).

Explain the concept of Phillips curve. Why is it
vertical in the long run ?

Write short notes on any fwo of the following :

(a) Demand for Money

(b) Liquidity Trap

(¢) Menu Cost
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